@blustar

2021_T-FLAP/ T-Flap
DISTINTA

Descrizione BASE
Qty.Needed

Unit Description

T blustar Code

CIRC-N-I-01 PCS Nozzle Ugello 1,00
Kit Recirculate (Filter) . pucircolo (filtro)
¢ Rcomposed b¥' Kit . composto da: Filtro
A ecirculate (Filter) : M+PP Filtro
CIRC-N-I1-015 PCS composed by Filter F+Nibolo ridotto+ 1,00
M+PP + Filter "F "+ PP
Manicotto+Portago
Nozzle + sleeve + mma diritto M
Straight Hose "M"
CIRC-N-F-08 PCS Deep toilet Bowl Diaframma Nero 1,00
T Flap T Flap
& CIRC-N-F-01  PCS  Blind Nut M6 /T Flap Dadf’f::: M6 2,00
CIRC-N-F-02 PCS Washer A2D.6,4/T RondellaA2D. 6,4/ 2.00
Flap T Flap
CIRC-N-F-03  PCS  LockingPin/TFlap ' erm° F:::'ggm T 100
CIRC-N-F-04  PCS Fixing Bracket/T Flap -rana Fl'::;ggm al 1,00
CIRC-N-F-05 PCS  Locking Plate/T Flap D'T;f;ﬁrg:'l‘f‘;lr:p 1,00
PCS  Metal Weight/ T Flap C°"t”|":'|°a'°:s° al 1,00

CIRC-N-F-10




Support Plate for Flap

Piastra supporto

CIRC-N-F-11 PCS Bracket staffa Flap Y
- Cylindrical Head- Vite 5x10 a testa
2 TB4-RP-02 PCS Screw with Hexagon cilindrica bombata 5.00
Socket con esagono
M5x10 incassato
,a TB-BLU-13 PCS Nut M5 Dado Cieco M5 4,00
(@ TB-RP-010  PCS Washer A2 M5/ T Flap RondellaA2MS/T 2,00
Flap
it
- o Metal Hose Clamp - .
= CIRC-N--07  PCS Small Fascette Piccole 4,00
‘) 12x20
12x20
TB-FLU-REC- Stainless Steel Cover Anello in Acciaio
pcs ) 1,0
010 Ring Inox
g o, . .
€ CIRC-N--12  PCS Metal Plate Piastra Tubi Sotto 1,00
Tanica
= Screw for Metal Plate Vite per Piastra
= CIRC-N--13 PGS 1o pIN7985MEx10  TC-DIN7985 Mex10 2%
/ TB-TUBI-N-01 MT Black tube/Hose Tubo Nero 1,15
/ TB-TUBI-N-01 MT Black tube/Hose Tubo Nero 2,25
=% TB-FTPUMP- Pompa a Piede
% . REG PCS Large Foot Pump Grande 1,00




